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Section A 

 

Question No. 01 

 

1. The principal budget factor is the  

a. factor which limits the activities of the organisation and is often the starting point in 

budget preparation.  

b. budgeted revenue expected in a forthcoming period.  

c. main budget into which all subsidiary budgets are consolidated.  

d. over estimation of revenue budgets and underestimation of cost budgets, which operates 

as a safety factor against risk. 

 

 

2. The budgeted contribution for R Limited for the last month was Rs.32,000. The following 

variances were reported. 

Variance      Rs. 

Sales volume contribution    800    adverse  

Material price     880    adverse  

Material usage     822    favourable  

Labour efficiency     129    favourable  

Variable overhead efficiency     89    favourable  

 

No other variances were reported for the month.  

The actual contribution earned by R Limited for the last month is Rs.  

 

 

3. When calculating the material purchases budget, the quantity to be purchased equals to; 

a. material  usage  +  materials  closing  inventory   - materials opening inventory  

b. material  usage  -  materials  closing  inventory   + materials  opening  inventory  

c. material  usage  -  materials  closing  inventory    - materials opening inventory  

d. material  usage  +  materials  closing  inventory   +  materials  opening  inventory 
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4. The following details have been extracted from the payables records of X company: 

Invoices paid in the month of purchase    25%  

Invoices paid in the first month after purchase   70%  

Invoices paid in the second month after purchase      5%  

 

Purchases for July to September are budgeted as follows: 

July   Rs.250, 000  

August  Rs. 300,000  

September  Rs. 280,000  

For suppliers paid in the month of purchase, a settlement discount of 5% is received.  

The amount budgeted to be paid to suppliers in September is Rs.   

 

5. Peach Co’s latest results are as follows:  

Rs. 000  

Profit before interest and taxation    2,500  

Profit before taxation     2,250  

Profit after tax      1,400  

 

In addition, extracts from its latest statement of financial position are as follows:  

Rs. 000  

Equity       10,000  

Non-current liabilities     2,500  

 

What is Peach Co’s return on capital employed (ROCE)?  

a. 14%  

b. 18%  

c. 20% 

d. 25% 

     (02 Marks X 05 = 10 Marks) 
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Section B 

 

Question No. 02 – Compulsory 

 

Live Ltd produces two products namely as R and N. You are given following information. 

1) Budgeted direct cost per unit for two products for the year 2017 are as follows, 

 R N 

 Rs. Rs. 

Material A – 2 Kg at Rs.200 per Kg 

                      2.5 Kg at Rs.200 per Kg 

400  

 500 

Material B – 1.5 Kg at Rs. 300 per Kg 

                      2 Kg at Rs. 300 per Kg 

450  

 600 

Direct Labour – 3 hours at Rs. 600 per hour 

                           2 hours at Rs. 600 per hour 

1800  

 1200 

 

2) Production overhead is made up as follows; 

     Rs. 

Electricity     10,000 

Depreciation     20,000 

Miscellaneous    120,000 

     150,000 

 

Production overhead cost is absorbed into products using a direct labour hour absorption rate. 

3) Sales 

The sales director has forecasted that sales of R and N will be 6,000 and 2,000 units, 

respectively, during the year 2017. The selling prices will be: 

R  Rs. 3,500 

N  Rs. 3,900 

 

4) Selling and distribution expense for the year amounts to Rs. 100,000 and it includes a 

depreciation of Rs. 20,000. 

 

5) Corporate tax is charged at the rate of 30% per annum. 

 

 



4 
 

6) Inventory  

- Finished good inventory to be as follows; 

Opening inventory (as at 1st January 2017) - Product R  1000 units 

        Product N  300 units 

Closing inventory (as at 31st December 2017) Product R  1500 units 

        Product N  500 units 

 Raw material inventories  

    Opening inventory – Material A   2,500 Kg 

               Material B 2,000 Kg 

     Closing inventory - Material A   2,000 Kg 

               Material B 2,500 Kg 

 

7) Budgeted cash flows for four quarters of 2017 is as follows; 

  
Quarter 1 Quarter 2 Quarter 3 Quarter 4 

Rs. Rs. Rs. Rs. 

Receipts     

      Sales revenue 6,000,000 6,000,000 7,000,000 9,000,000 

      Machine disposal 
 

750,000 
  

Payments     

      Materials 1,510,000 2,500,500 1,900,000 1,400,000 

      Direct wages 3,585,000 3,585,000 3,585,000 3,585,000 

      Electricity 1,000 2,000 500 4,000 

      Other production 

overhead 15,000 25,000 30,000 50,000 

       Machine purchase 
  

1,200,000  

      Selling and 

distribution expenses 

20,000 20,000 20,000 20,000 

     Taxation 
  

10,000  

 

8) Book value of the machine disposed was Rs. 1,000,000 and it had an accumulated 

depreciation of Rs. 100,000. 
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10) Budgeted balance sheet as at 1st January 2017 is as follows 

Budgeted Balance sheet as at 01st January 2017 
 

Cost Acc. Dep NBV 

Non-Current Assets 
   

Land 4,000,000 - 4,000,000 

Building and Equipment 6,000,000 650,000 5,350,000 
 

10,000,000 650,000 9,350,000 
    

Current Assets 
   

Inventories 
   

Raw material 
   

A 500,000 
  

B 600,000 1,100,000 
 

Finished goods 
   

R 2,371,136 
  

N 986,948 3,358,084 
 

Receivables 
 

9,500,000 13,958,084 

Total Assets 
  

23,308,084 
    

Current Liabilities 
   

Payables 2,308,084 
  

Accrued electricity 3,000 
  

Taxation 10,000 
  

Cash at bank 100,000 2,421,084 
 

    

Noncurrent liability 
   

15 year Bank loan 
 

5,887,000 
 

    

Equity 
   

Share Capital 13,000,000 
  

Retained earnings   2,000,000 15,000,000 
 

Total equity and Liability 
  

23,308,084 
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You are required to prepare following budgets: 

a. Sales budget         

(02 Marks) 

b. Production budget        

(03 Marks) 

c. Material usage budget        

(02 Marks) 

d. Material purchase budget       

(02 Marks) 

e. Labour budget         

(02 Marks) 

f. Production overhead budget       

(02 Marks) 

g. Production cost budget       

(02 Marks) 

h. Cash budget         

(05 Marks) 

i. Budgeted Income statement and Balance Sheet     

(10 Marks) 

        (Total 30 Marks) 
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Section C 

Answer only Three (03) questions 

 

Question No. 03 

 

a. Explain the difference between real rate of return and nominal rate of return and outline the 

circumstances in which the use of each would be appropriate when appraising capital 

projects under inflationary conditions.      

(05 Marks) 

 

b. Diamond Co has just developed a new product to be called Rubi and is now considering 

whether to put it into production. The following information is available. 

i. Costs incurred in the development of Rubi will amount to Rs.480, 000. 

 

ii. Production of Rubi will require the purchase of new machinery at a cost of Rs. 

2,400,000 payable immediately. This machinery is specific to the production of Rubi 

and will be obsolete and valueless when that production ceases. The machinery has a 

production life of four years and a production capacity of 30,000 units per annum. 

 

iii. Production costs for one unit of Rubi (at year 1 prices) are estimated as follows. 

    Rs. 

       Variable materials        8.00 

                   Variable labour       12.00 

                   Variable overheads      12.00 

 

In addition, fixed production costs (at year 1 prices), including straight line   

depreciation on plant and machinery, will amount to Rs.800, 000 per annum. 

 

iv. The selling price of Rubi will be Rs. 80 per unit (at year 1 prices). Demand is expected 

to be 25,000 units per annum for the next four years. 
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v. The inflation rate will be 5% per annum for the next four years and the selling price of 

Rubi is expected to increase at the same rate. Annual inflation rates for production costs 

are expected to be as follows. 

% 

Variable materials      4 

Variable labour                10 

Variable overheads      4 

Fixed costs       5 

 

vi. The company's weighted average cost of capital in nominal terms is expected to be 

15%. 

 

You are required to; 

Calculate the net present value of Rubi production and advise the directors of Diamond Co 

whether it should produce Rubi on the basis of the information above. 

           (15 Marks) 

             (Total 20 Marks) 

 

 

Question No. 04 

 

a. Many research findings suggest that “annual budgeting results in improving financial 

performance of organizations.”   

Briefly explain four objectives of budgeting. 

           (04 Marks) 

 

b. According to Hope and Fraser ((2003), “traditional budgeting is inherently flawed”.  

Explain five criticisms against traditional budgeting systems.  

(10 Marks) 

 

c. Organizations use many budgeting types in deploying traditional budgeting. Incremental 

budgeting, zero-based budgeting and rolling budgets are the most popular among them. 

Briefly explain the difference between zero-based and incremental budgeting with pros and 

cons of each method.                                

(06 Marks) 

            (Total 20 Marks) 
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Question No. 05 

 

a. Explain the difference between capital expenditure and revenue expenditure, using an 

example  

(04 Marks) 

 

b. Briefly explain the term “investment appraisal” and state two types of investment appraisal 

techniques. 

                                                       (04 Marks) 

 

c. Explain pros and cons of the following investment appraisal methods. 

i. Payback period 

ii. Return on Capital Employed (ROCE) 

iii. Internal Rate of Return (IRR)       (06 Marks) 

 

d. Differentiate between conventional and non-conventional cash flows and describe the 

limitations of using IRR method of investment appraisal when a project consists of non-

conventional cash flows.         

           (06 Marks) 

  (Total 20 Marks) 
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Question No. 06 

 

a. Explain the following types of standards 

i. Ideal Standards 

ii. Attainable Standards 

          (04 Marks) 

 

b. A company produces and sells one product and the standard cost for one unit is as follows.  

Rs. 

Direct material A – 10 kilograms at Rs.20 per kg     200  

Direct material B – 5 litres at Rs.6 per litre      30  

Direct wages – 5 hours at Rs.6 per hour      30  

Fixed production overhead         50 

Total standard cost         310 

 

The fixed overhead included in the standard cost is based on an expected monthly 

output of 900 units. Fixed production overhead is absorbed on the basis of direct labour 

hours.  

 

During April the actual results were as follows.  

Production     800 units  

Material A     7,800 kg used, costing Rs.159, 900  

Material B     4,300 litres used, costing Rs.23, 650  

Direct wages     4,200 hours worked for Rs. 24,150  

Fixed production overhead   Rs. 47,000 

 

You are required to: 

i. Calculate material price variance 

ii. Calculate material usage variance 

iii. Calculate labour rate variance 

iv. Calculate labour efficiency variance 

v. Calculate fixed overhead expenditure variance 

vi. Calculate fixed overhead volume variance             

(12 Marks)  

vii. Explain the possible reasons for the above variances.           

(04 Marks) 

             (Total 20 Marks) 
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